Model 6045

Engineered. Lighting. Solutions.

PRE-INSTALLATION INFORMATION

Estimated Time 45 minutes

Tools Needed Philips Screwdriver
M4 Allen Wrench
M8 Socket Wrench

In the Box (x2) Model 6045 Fog Lights
/® (in black OR chrome)
(x1) Adapter Kit containing:

A (x2) Chrome Bezel
B (x2) Adapter Bracket
C (x4) M5 x 35 SS Bolts
D (x8) M5 x 0.8 Lock Nuts
E (x4) Flat Washers
F (x6) 6-18x1.50" Philips Screws

Wire Functions Black = Ground
Red = Power

Input Voltage 12V DC

Operating Voltage 9-15V DC

Regulatory Compliance

(‘ \YV,@ PRODUCT WARRANTY:
\ Y
A

Coraesor ™ unmeonamions If you have issues with a J.W. Speaker
product, please contact the authorized
retailer where you purchased it.

0 DEPM%
% 2°
rea nowdS

»

Pre-Installation Guidelines

1. Read all safety notes and mounting guidelines before installing
the product. Verify that all parts listed under “In the Box” are
present and complete.

2. Inspect the product for damage. DO NOT install the product if
there is any damage. Contact the authorized retailer where you
purchased it to initiate a warranty claim if there is damage.

3. Verify that all power supply and/or charging systems comply to
the specified voltage limits for the light.

To properly install this light you should have a good understanding of automotive electrical procedures and
systems, and proficiency in the installation of fog lights. If you do not, please seek professional assistance.

INSTRUCTIONS BEGIN ON THE NEXT PAGE
Page 1


http://www.carid.com/jw-speaker/
http://www.carid.com/automotive-lighting.html

Model 6045

Engineered. Lighting. Solutions.

Installation Instructions

1. Disconnect the existing fog lamp, then uninstall any hardware that is attaching the fog lamp to the vehicle.

2. Insert the two, M5 x 35 Bolts from the front of the adapter bracket.
Place the two M5 lock nuts in the corresponding pockets on the back of
the bracket and tighten with a M4 Allen wrench

3. Mark and drill holes at the 3:00 and 9:00 position in the bumper
cavity to align with the two M5 x 35 bolts.

4. Align the adapter bracket (with the J.W. Speaker logo in the 6:00
position) from the front of the bumper cavity, then attach the
adapter bracket to the bumper by putting the flat washers, then the
second set of lock nuts to the bolts on the back of the bumper.

5. Tighten the lock nuts using a M8 Socket Wrench.

6. From the front of the bumper, Insert the new fog light and
immediately align the chrome bezel over it. Align the three holes on
the chrome bezel with the matching holes on the adapter bracket.

7. Attach the chrome bezel to the adapter bracket using the three
Philips screws provided.

8. Using the Wiring Information, connect the new fog light to the vehicle.

9. Repeat steps 1-8 on the other fog light.

Page 2



